ARE

I /Il @ X @ @ @ @ @ = @ @ @ @ | = I
> /
TYPICAL RAILING PLAN VIEW &
131'=0" = PAY LIMIT ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM
19'-5" 23'-11" 23'=11" 23'-11" 23'-11" 15'-7 1/4"
!et%Z" EXP JOINT 9%3/4” FIXED JOINT (typ) 2" EXP JO/NT—~—>7&!
C H - 11 L1 - L1 L1 11 x 11 I | 11 x 11 L1 — T 11 11 1 H 3
HH 11 L1 | I — 11 11 11 L1 L1 1L Ll L1 11 11 1 HH
I I I I m 7
.:. I;II 11 11 " L1 11 Ll x 11 11 L1 T 1 11 L1 L1 11 T L1 11 3 HH
! o -y - - - i - - i - - pu = i - o - - o - - pu =y J - - = - o k. o - -y
- i
k'—o' (16) SPACES @ 8'-0" = 128'-0" 3'-0’
T
LOOKING AT FACE OF RAIL FROM CENTERLINE OF ROAD
BOTH SIDES TYPICAL
BILL OF MATERIAL
ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM (262 LF)
Qty mk Description Spec.
34 BRIDGE RAILING POSTW6x 25 x 35375 CAH  WITH 1 x 10x 14 BASE PLATE (GLV) A708 gr 50
10 SPLICE TUBE (FOR 8X4 RAILY HSS 7 x 3x 3/8 x 1-8.000" OALw/ TAPPED HOLES & 2 WELDED NUTS (GLV) AS00grB
30 SPLICE TUBE (FOR 4X4 RAIL) HSS 3x 3x 5/16 x 71-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) AS00grB
2 L1 |RAIL TUBE 8 x 4 x 5/16 (GALV) 19-5.000" LG AS00grB
8 L2 |RAIL TUBE 8 x 4 x 5/16 (GALV) 23-11.000" LG A500 gr B
2 L3 [RAIL TUBE 8 x 4 x 5/16 (GALV) 15-7.250" LG AS00 gr B
6 L1 |RAIL TUBE 4 x 4 x 1/4 (GALV) 19-5.000" LG A500 gr B
24 L2 |RAIL TUBE 4 x 4 x 1/4 (GALV) 23-11.000" LG AS00 gr B
6 L3 |[RAIL TUBE 4 x 4 x 1/4 (GALV) 15-7.250" LG AS00 gr B
34 ANCHOR SPACER PLATE PL 0.375x 13.000 x 9.375 AT7089 gr 36
138 ANCHOR STUD DBL END PART THREAD - 1" DIA x 14.000 LG (GLV) Ad48
276 HEAVY HEXNUT 1" (GLV) AS63 DH
138 ROUND WASHER {SAE} - 1" DIA SMALL (GLVY) F436 H IG HWAY SAFETY CO RP
138 JAM NUT 1" (GALV) AS63 DH GLASTONBURY, CT
860-633-9445
272 ROUND HEAD POST BOLT slot or wrench head - no shoulder 34" DIA x 6" LG. FULL BODY (GLV) A449 | A325 ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM | 2
572 00K NUT 32 (GLY 563 DI ITEM 621,73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAN >ﬂ CERTIFIED
(GLV) TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR|
272 (3/4") PLAIN ROUND WASHER TYPE A (GALV) 0.750" DIA USS LARGE (HI-CARBON) F844 TOWN OF LINCOLN, VT ADDISON COUNTY
160 {5/8") HEXHEAD BOLT (GALV) 0.625" DIA x 1.750" LG. A325 BRF 0188 (8) HSC J08 NO.
160 (5/8") PLAIN ROUND WASHER (GALV) 0.625" USS LARGE F844 — _ DR % e ot _5&1_7_
80 3/4" SPACER PIPE 0.750" DIA_ (SCH 40) x 1/2" LG. A53 g B 8_loiflel supifiel pg IS [ LAFAYETTE 1 of 4
34 BEARING PAD 0.125" THICK x 10.000 x 14.000 {NEOPRENE 80 duro +/-10) aashto M251 REVISIONS W oo 15 |su:.s NONE lstzz 5

DRAWN PAR )cnzcxzoﬂ: ‘




%"¢ HOLES
¢ RAIL POST IN RAIL (TYP.) 1.125 x 1.375 SLOTTED
. X .
) " HOLES IN POST
- o TS 4 x 4 x 1/4 Y 2 8 (TYP.)
L | ~
- S I
ST ey 2 i
T Il 1 / 2 ”
2 i TS 4 x 4 x 1/4 el T
& z: (]
. I | il 1l
- ‘%& N 1
o = lofol % iR ol
[ .: . — 1
- I TS 8 x 4 x 5/16 P
N
oS ; -
<r = H
BLS) 1l —N ,,7\00 \CD
ol | G
W o L = N
Lol 0.6876 HOLE —-O
I FOR REFLECTOR i
) T I
TS 4 x 4 x 1/4 I
N |
%O\ :, 1}

J_\[\J_

.
— _E%m_,
= | % ‘~
IR
— SE
W6 x 25— )
: RAIL POST | N
: Q0 — - -
SR © o
LFI) | N R
i | — =%
0.75"8 ROUND HEAD' BOLT WITH L -
HEX NUT & TYPE A WIDE WASHER . |, SN
(MIN. .813” 1.D., 2" 0.D., .156” THICK) N -
(8) PER POST (typ)
FIELD DRILL 7/8”¢ HOLE IN TUBE —|}- )
SEE NOTE #6 .
o~ N
i
L)
~OF
v
N—1"9 ANCHOR ROD (TYP.)
ANCHOR PLATE—T75 5 /g |5 3/8"l o
I T
>
SECTION VIEW

STEEL HEX NUT AND
1" STANDARD WASHER

1”8 ANCHOR ROD (typ.)

1"—8 THREAD —
4.500 LG TOP
2.500 LG BOTTOM

(‘"'\I\.AA"I

PARTIAL RAIL ELEVATION

a c
s Al
- T T S ~UAMB NUT
i r/ w
i T ANCHOR PLATE 98
5%" STANDARD HEX NUTS ‘?_c\\j 3%» 175" HOLE (TYP.)
Py
POST ANCHOR ASSEMBLY ©- Q) /6%"¢ HOLE
i + 3%" PLATE
-l 4
o O
11” Gg" 11"
7
10" As
s ~1%"¢ HOLE (typ.) ANCHOR PLATE

W6 x 25
o 4 =
g . S [ =
z =77/
< 199 \Tr CZA=E W Z4
3 ng 13 STANDARD— J
6 18 WASHER
NOTE:
BEARING PAD TO HAVE SAME
R POS,,T BAéE PLATE SHAPE AND DIMENSIONS AS SPLICE _BOLT
1" x 10" x 14" BASE PLATE = BASE PLATE. SECTION

CK NUT

%"¢ x 13%” CAP SCREW
Lo
| (OUTER HOLES ONLY)

V—V—QACK WELD

3"¢ PIPE SPACER

%"e

[II][II_i_l]l]I]I]I]I]I]_

%" MAX:—

%" SLOT—~
5"

FRONT POST ELEVATION

%"

ROUND HEAD BOLT

1%" x "A" SLOTTED
HOLE IN RAIL TUBE (TYP.)

%"8 TAPPED HOLES
IN SPLICE BAR (TYP.)

SCH. 40 %" LONG (GALV)
(1.050" 0.D. .824 1.D.)

— SLOT OR

WRENCH HEAD

TACK WELD LOCK
NUT AT OUTER
HOLES

E
%'s DRAIN—/ .
HOLE 210

(]
@

L

RAIL SPLICE SEE NOTE #5

7" OR

SECTION

NOTES:

1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.

2. PRIOR TO GALVANIZING, ALL EXPOSED CUT OR SHEARED EDGES SHALL BE

ROUNDED TO A 1/16” RADIUS AND BE FREE OF BURRS.

3. ALL POSTS SHALL BE SET NORMAL TO GRADE.

4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO (2) RAIL

POSTS AND PREFERABLY TO AT LEAST FOUR (4) POSTS.

5. AT INTERIOR SPLICES, PIPE SPACERS SHALL BE USED ON ONLY ONE SIDE OF THE
SPLICE TO ALLOW MOVEMENT ON THAT SIDE, THE TOP AND BOTTOM RAIL SHALL RECEIVE
THE SAME TREATMENT, AT END SPLICES PIPE SPACERS SHALL BE USED ON BOTH SIDE OF

THE SPLICE TO ALLOW MOVEMENT ON EACH SIDE.

6. HOLES IN RAILS FOR RAIL TUBE ATTACHMENT SHALL BE FIELD—DRILLED. HOLES
SHALL BE COATED WITH AND APPROVED ZINC—RICH PAINT DURING INSTALLATION.

7. RAIL POST ANCHORING NUTS SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN

ADDITIONAL ONE—EIGHTH TURN.

8. RAIL TUBES SHALL BE ATTACHED USING 3/4" FULL DIAMETER BODY ASTM A449
ROUND HEAD BOLTS INSERTED THROUGH THE FACE OF THE TUBE. HOLES IN POSTS

SHALL BE 1/16" LARGER THAN THE BOLT SIZE.

9. ANY BENDING OR CURVING OF RAIL SHALL BE DONE IN A FABRICATION PLANT IN

ACCORDANCE WITH SUBMITTED PROCEDURES.

10. THE MINIMUM DISTANCE FROM A POST TO AN EXPANSION JOINT SHALL BE SUCH
TO MAINTAIN MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END
OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF ONE IS USED.

11. A DELINEATOR (SEE VAOT STANDARD DRAWING G—1 FOR DETAILS) SHALL BE
INSTALLED AT NEAREST POST TO 30 FT SPACING. WHITE IS TO BE INSTALLED ON THE
DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE

DRIVER’S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS.

12. THIS RAILING MEETS THE REQURIEMENTS FOR A TL—4 SERVICE LEVEL.

MATERIALS

RAIL TUBES....iiiiieieeeeieie e
RAIL POSTS AND BASE PLATES
ALL OTHER SHAPES AND PLATES
ANCHOR STUDS.........
ALL OTHER BOLTS (UNLESS NOTED)

NUTS FOR AASHTO M164 BOLTS AND FOR ANCHOR STUDS SHALL COMPLY WITH

AASTHO M291 (ASTM A563).

ASTM A500 GRADE B OR ASTM AS501
ASTM A709/A709M, GRADE 50
..ASTM A709/A709M, GARDE 36
............................ ASTM A449
AASHTO M164, TYPE1

WASHERS SHALL COMPLY WITH AASHTO M293 (ASTM F436) SPECIFCATIONS.

1/8" PAD SHALL COMPLY WITH STANDARD SPECIFICATION SUBSECTION 731.01 OR

731.02.

RAIL POSTS AND BASE PLATES SHALL BE TESTED FOR IMPACT PROPERTIES IN
ACCORDANCE WITH ASTM A370 CHARPY IMPACT TESTING USING TYPE A SPECIMEN.

TS 7 x 3 x %"
TS 3 x 3 x %¢"

¢ %"
TAPPED HOLE

SPLICE TUBE

8" OR

%"® x 1%"
CAP SCREW
A307

— —
[N}

» 00
X X
INEN

%"9 PIPE SPACER

(SCH 40, %" LG)

TYPICAL SPLICE

ASSEMBLY
SEE NOTE #5

SPLICE & EXPANSION JOINT TABLE

) e vg» g "p» B "

INTERIOR 2 1/2" 4" 4" 2" 3/4" 1'-8"
* <3 1/4” 2 1/2" 4" 4" 2" 2" 1'-8"
e A T e e 2 5 5 = =7

"T" = TOTAL REQUIRED MOVEMENT

* = END SPLICE BAR

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860—633-9445

ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM
ITEM 621.73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM

TH1 EAST RIVER ROAD BRIDGE #19

TOWN OF LINCOLN, VT ADDISON COUNTY

BRF 0188 (8)

S CERTIFIED]
< FABRICATOR|

|cENERAL ConTRACTOR

[sUB

LAFAYETTE

HSC JOB NO.

2041

SHEET NO.

2 of 4

DRAWN

PAR

CHECKED I DATE

03-27-15 | NONE

| SizE

D




BRIDGE RAIL 29°=1" = LIMITS ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM |
ITEM 525.34
INSTALL END CAPS —
(TOP 3 RAILS) LOWER PAL ILIR] sHown
WOOD POST & BLOCKOUT /jLQ L| 0PPOSITE HAND
PO1 P02 P03 P04 _ -2
X, X, X, X X X, X,
' r  r t  fHHHEAHHE Hi H 2
L I | H J
7 [
55 14" THRIE BEAM
7.687" TOP RAIL TERMINAL
W 3.312 ZND RAIL
0.250" 3RD RAIL
0.000" LOWER RAIL CONNECTION
| PLATE
3'-0" (3) SPACES 2'—4" 12GA DOUBLE NESTED THRIE BEAM 12°'-6" 6'-3" LAP_SECTIONS MITER CUT & WELD TUBE
o @ 2'-2" = 6'-6" L ! . 10 GA TRANSITION IN DIRECTION OF TRAFFIC TO APROXIMATE 7’ RADIUS
1-6 1/2" < NS EAM R (2'=2" TYP CHORD LENGTHS SPACED
> -
H DETALL A i _ o TO AVOID INTERFERENCE WITH POSTS)
I - () SHEET 4 2'-10 7 2'-6
[T . 3 o S << = , N RS, -
T 7 W R =T e = e e i me | '-:{
. . . ENL 0 S i S E— Lp USE 10" ANGLED !
1 ] 1 ] I N— | — - - in _ L . END_CAP LOWER RAIL FLAREBACK o
| ol IV/ﬂl | | !! 1 I I N I N NN N N S Y Il 11 | SPLICES HERE = 1 =1
1 | IR
' | NNyl — T [L4]
! Lol | l@ (6) SPACES @ 1'-6 3/4" 3-11/2" | 3-11/2" | 3-11/2 6'-3" (typ) 18'—6" o
T0P RAIL | L5 i A i~ =9-41/72 INSTALL END CAPS /-6
1 [ [
! ! . o 2" EXP JOINT
2ND RAIL | LB i : o i i P SPLICE LOWER RAIL — — — — — — — —
1 [
3RD RAIL n ! | I N L1 L [ — :: L1 :'T :'l " :il
! . 11 11 L1 11 11
11 | [ 1
BOTTOM RAIL - Sy L i ", . ", : ", ", ~ L
L APPROACH RAIL @ W.W. 2 & 3 T -
10 deg ANGLED SPLICE = = = = = = = .
W.W. 1 APPROACH RAIL IS SIMILAR BUT OPPOSITE HAND / : JH ! ! ! :
N i [ | 1 | |
Iy B 1 1 1 | 1
BILL OF MATERIAL 1.750 = + 5 R R
ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM (3 EA) P | L D P P P
[ 1
Qty mk Description Spec. 1'-8" : | | } | - ; | : ; |
3 P01 |W6x25 APPROACH POST -#1 x 88" OAL (GALV) A709 gr 50 ; i ! b b ! i
3 P02 |W6x25 APPROACH POST-#2 x 8-8" OAL (GALV) A709 gr 50 TOP VIEW b : bl , b b b
3 P03 |W6x25 APPROACH POST - #3 x 8-8" OAL (GALV) A709 gr 50 NOT TO SCALE L L L L — L L L
3 P04 |W6x25 APPROACH POST - #4 x 8-8" OAL (GALV) A709 gr 50 " e on _ qEr_on | P
ANGLED FLAREBACK SPLICE DETAIL 20 = (7) SPACES © 2'-2" = 15'-2 P
3 L5 UPPER RAIL APPROACH TUBE TS 4 x 4 x 1/4" (GALV.) 94.000" OAL AS500 Gr. B SEE SHEET 2 FOR ADDITIONAL SPLICE DIMENSIONS
3 L6 |SECOND RAIL APPROACH TUBE TS 4 x 4 x 1/4* (GALV.) 94.000" OAL APPROACH RAIL @ W.W. 4
3 L7 [THIRD RAIL APPROACH TUBE TS 8 x 4 x 5/16" (GALV.) 9-4.000" OAL A500 Gr. B
3 L8 |LOWER RAIL APPROACH TUBE TS 4 x 4 x 1/4" (GALV.) 8-11.625" OAL A500 Gr. B
2 L9R _ |RIGHT HAND FLAREBACK TS 4 x 4 x 1/4 (GLV) 27-0.4375" OAL AB00 Gr. B BILL OF MATERIAL
1 LOL  |LEFT HAND FLAREBACK TS 4 x 4 X 1/4 (GLV) 270.4375" OAL A500 Gr. B ITEM 621.73 GUARDRAIL APPROACH SECTION GALVANIZED 4 RAIL BOX BEAM (1 EA @ WW 4)
3 CONNECTION PLATE PL 0.375" X 20.000" X 27.000" (GALV) A709 gr 36 aty mk Description Spee.
3 END CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 x 4.000 w/ WELDED TABS (GALV) A709 gr 36 8 YAVA | WBx25 APPROACH POST x 88" DAL (GALY}) A708 gr 50
9 END CAP FOR 4x4 TUBE 0.187 THICK PLATE 4.000 x 4.000 w/ WELDED TABS (GALV) A709 gr 36 1 SPLICE TUBE {FOR 8%4 RAIL) HSS 7x 3x 38 x 1-8.000" OAL wf TAPPED HOLES & 2 WELDEDNUTS (GLV} {farchack 18 deg} AE00 or B
3 top rail SPLICE TUBE HSS 3 x 3 x 5/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) (angled down) AB500 gr B 3 SPLICE TUBE {FOR 4%4 RAILY HSS 3% 3% 5/16 x 1-8.000" CAL wf TAPPED HOLES & 2 WELDED NUTS {GLV)} {Earchack 10deg} | AS000r8
3 2nd rail SPLICE TUBE HSS 3x 3x 6/16 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) (angled down) - A500grB
3 3rd rail SPLICE TUBE (FOR 8X4 RAIL) HSS 7 x 3x 3/8 x 1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) straight AB00 gr B 1 L4 |RAILTUBE 8x 4x 515 (GALY) 18°6.000° LG miter cut & weld for 7 mdius AR00 or B
3 bottom rail SPLICE TUBE (FOR 4X4 RAIL) HSS 3 x 3 x 5/16 x_1-8.000" OAL w/ TAPPED HOLES & 2 WELDED NUTS (GLV) straight A500 gr B 3 L4 |RAILTUBE 4x4x U4 (GALY)18-6.000" LG miter cut & weld for 7 radius AS0 gr B
24 4RR  |WOOD POST 6 x 8 x 70" (for thrie beam w/ rub rail hole) TIMBER 1 END CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 x 4.000 wf WELDED TABS (GALY} A708 o 36
24 WOOD BLOCKOUT 6 x 8 x 22.500 TIMBER 3 END CAP FOR 4x4 TUBE 0,187 THICK PLATE 4.000 x 4.000 wé WELDED TABS (GALY} A709 gr 36
3 TRR _ |WOOD POST 6 x 8x 70" (for thrie transition w/ rub rail hole) TIMBER
3 WOOD BLOCKOUT 6 x 8 x 18.000 TIMBER 54 ROUND HEAD POST BOLT slot or wrench head - no shoulder 34" Dk x 6 LG. FULL BODY {GLY} AL § A3
3 R |WOOD POST6 x 8 x 7-0"_(for w-beam rail w/ rub rail hole) TIMBER 64 LOCK NUT 344” (GLY) A563 DH
3 WOOD BLOCKOUT 6 x 8 x 14.000 TIMBER 84 {3147} PLAIN ROUND WASHER TYPE A (GALY} 0.750° DIA USS LARGE {HHCARBON} F244
16 {58y HEX HEAD BOLT (GALY} 0.625" DIA % 1.750° LG. A325
30 WOOD BLOCKOUT 6 x 8 x 4.000 (for rubrail blockout) TIMBER 18 (5/8"y PLAIN ROUND WASHER (GALY ) 0.525" USS LARGE F844
18 34 SPACER PIPE 0.750” D&, (SCH 40}x 12 LG. AS3gB
3 THRIE FLAT LIP BRIDGE SHOE (MODIFIED) 10 GA. GALV aashto M180 B2
3 THRIE TRANSITION PANEL 63"/ 3“1 1/2" 10 GA. GALV. aashito M180 B2
6 THRIE PANEL 126" / 16 3/4" 12 GA. GALV. aashio M180 A2 IH | G |H WAY S A F E TY C O R P
GLASTONBURY, CT
120 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. FULL BODY (GLV) A449 / A325 860-633—9445
120 LOCK NUT 3/4" (GLV) A563 DH
[TEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM )
120 (3/4") PLAIN ROUND WASHER TYPE A (GALV) 0.750" DIA USS LARGE (H-CARBON) Fa44 . O CERTIFIED
= (576" HEX HEAD BOLT (GALV) 0.625° DIA x 1750° L5, reon ITEM 621.73 GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM 2 FABRICATOR
48 (5/8") PLAIN ROUND WASHER (GALV) 0.625" USS LARGE Fai4 TH1 EAST RIVER ROAD BRIDGE #19 ]
18 3/4" SPACER PIPE 0.750" DIA. (SCH 40) x 1/2" LG. A53 g B TOWN OF LINCOLN, VT  ADDISON COUNTY
3 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4” DIA x 2" LG. (GLV) w/ HEX NUT A449 BRF 0188 (8) e Jo8 N
48 ROUND HEAD POST BOLT - oval shoulder 5/8" DIA x 1-8" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307 CENERAL CONTRACTOR 2041
36 ROUND HEAD POST BOLT - oval shoulder 5/8" DIA x 1-6" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307 I — SHEET NO.
96 PANEL SPLICE BOLT 5/8 x 1-1/4" (GALV) w/ DOUBLE RECESSED NUT A307 LAFAYETTE 3 of 4
84
RECTANGULAR PLATE WASHER 0.187 x 1.750 x 3.000 (GALV) A709 gr36 DRAWN PAR CHECKED l WE 0z 07 15 ‘SCALE NONE Islzs D




%" ROUND HEAD
BOLT 6” LONG w/ HEX . X
CONNECTION PLATE . NUT & WASHER (yp) 6 % 8 100D Sééu%gN%EABG'
OFFSET BLOCK
P.
CL WOOD POST . ® 6 x 8 WOOD POST , SPLICE BOLT (20) TV
. /f = 8" 8" 5/8"0 POST BOLT 2%, x % O
24 { / B —|—r IITH PLATE WASHER, 2" SLOTTED HOLES SLOTTED HOLES
. N o — LOCATIONS  (t o dn
CLWe x 25 POST 8" -0 3/4” 3/8" ——— S HEX NUT & ROUND WASHER T (20) (typ) /| (5) LOCATIONS (typ) 4 4l
OUTLINE OF TERMINAL ~ CONNECTION S - Y 20" LONG AT DOUBLE NESTED RAILS
4" 4 CONNECTOR PLATE PLATE -2 S 18" LONG AT TRANSITION PANEL
7 3 / 0 18" LONG ol -
® o — | 5/8"0 POST BOLT x ol I
RO | ! (E U BN / WITH PLATE WASHER, 7
I e E NS =] DBL RECESSED HEX NUT o -
— s & ol = & ROUND WASHER o
e o |9 ! _ 2
I ____I____I_J o? %" ROUND HEAD @:‘ o 3
1 J; - - BOLT 2" LONG( W/) = g LOWER RAIL TUBE EE]__
% ® $ 4) , HEXNUT(typ = ~
2 ® > ¢ | { h— b n
. ' N |\ — * TIMBER OFFSET BLOCK »
i S ) ‘ ! / TS ' FOR LOWER RAIL 5. 3
- : - OUTLINE OF TERMINAL 5 3
CONNECTOR ~ K
/ || \ 5 o ¢ THRIE_TRANSITION PANEL
B % o rH T 4 \ LOWER RAL 10 GAUGE (AASHTO M180 B2)
B L""!""! -!" e 4 x 6 TIMBER BLOCK
w 1 ! ”
) | | | \ WITH (1) 3/4”¢ THRU HOLE
— FOR LOWER RAIL
i || SECTION B-B SECTION A-—A
oo i 3/4 DIA HOLES IN WOOD FROM SHEET 3 FROM SHEET 3
CL 3/4 ROUND HEAD—'—H FOR 5/8 DIA POST BOLTS g ™S S
POST BOLTS SPLICE BAR < i = 2
D ETAI L A LOWER RAIL .
FROM SHEET 3 3 (e N VB R ol 8
PORTIONS OF OVERLAPPING THRIE BEAM RAIL z (yp STEEL POST CHART . JE NI S ™ ~
AND TERMINAL CONNECTOR . : . RTINS T 5 +_ s +_ 3
ELIMINATED FROM THIS VIEW FOR CLARITY e 13" () iy { No A B c 3-3/8 1/8"x 1" x 1" TAB ! = ! = g l S
M . l ~ d e
=y ' - s N l 3 | R
e | T ( < PO1 |10.250 | 19.250 32.687 . . )
[ I © YP.
=] | m = ~ &
2-6" S| * ® | ™ —||—& . +
i of L | ’ o P02 | 9.125 17.312 30.750 J ! GALV. HANG HOLE +
- 0 | Rk : N ONE TAB ONLY o o ol
N Y R ~ o= [ P03 | 8.000 | 15.437 28.750 . 8|7 8% 8¢
3/4" x 2-1/2" SLOTTED HOLES 8 1/2" | 1/16 AN <l <+ [
(2) LOCATIONS AS SHOWN | 5/16" o[>, S S,
1”6 HOLES (9) — 17 x 2° DIAGONAL '@ '1 P04 | 6.875 13.500 24.812 THICK
SLOTTED HOLES
LOCATIONS  (typ) e (12) LOCATIONS (typ) l | END CAP  (8x4) rue
(8) 1.125" x 1.375" | E k. ‘ 3/16" x 8" x 4"
®w | - . x 1. 8) 1.125" x 1.375"
° ﬂ\ z HORIZ. SLOTS \ N ) | (& 1128 x
= 3 & Lel
S 3 le o o e = ' |
sl 2 — @ Wex25 POST | ! W6x25 POST
i e C > \ o | | 4
- 5 - 2| | ! 3-1/2" 1/8" x 1" x 1" TAB
sl |e © e - - i | . 6.000 6.000 6.000
~ = w ] 2 | ~ ()
o I = | [ |
[ ( £ | 2| o | i Y3 l__L_| Y. HANG HOLE 6 x 8 TIMBER POST 6 x 8 TIMBER POST 6 x 8 TIMBER POST
o Z | | ~ N ONE T8 ONLY 316" WITH (3) 3/4"s THRU HOLES  WITH (3) 3/4"¢ THRU HOLES  WITH (2) 3/4"¢ THRU HOLE
2 8 120 3/4 13" ! 1/16" THICK mk—4RR mk—TRR mk—R
A . PLATE
¢ ¢ END CAP_ (4x4)
TERMINAL CONNECTOR STEEL POST STEEL POST 3/16" x 4" x 4"
10 GAUGE (AASHTO M180 B2) —_— === = I VIR e of | 1|8
< ] 8 >
AT WINGWALL 4 AT WINGWALLS ol [ 44518 gl |+ 2 ol [+
(e} el o ! — :::
yoz 1,2 &3 2| 2 @ | e !
~N l A
o~
g 1'-0 3/4" T 6 x 8 TlMBE‘? BLOCK
3/4 6 x 8 TIMBER BLOCK WITH (1) 3/4"¢ THRU HOLE
A 1'-8" 16.000) WITH (2) 3/4"% THRU HOLES
/ =< NOTES: 6 x 8 TIMBER BLOCK
/ WITH (2) 3/4"8 THRU HOLES
® ) 1. ALL BRIDGE APPROACH RAIL MATERIALS, DIMENSIONS, SIZES, AND NOTES
. + x SHALL BE THE SHAME AS THOSE OF THE BRIDGE RAIL UNLESS OTHERWISE
: o ‘ NOTED. SEE BRIDGE RAIL SHEETS FOR NOTES AND ADDITIONAL INFORMATION.
® a1 ° ° ‘S - HIGHWAY SAFETY CORP
ot/ : ANGLED SPLICE Elevati 2. CARRIAGE BOLTS SHALL BE ASTM A307, AND NUTS SHALL BE ASTM A563
] 7 Llevalion GLASTONBURY, CT
: —o-—-—— -+ NOT TO SCALE GRADE A OR BETTER (GALVANIZED). ,
R xR - 860-633-9445
® ° ° ° ANGLED SPLICE DIMENSION SEN‘ASIIEIXT%T\ILICEET?S\/&’;D(gfltlJ_z)T,UBES 7O FIT BEND. USE COMPLETE JOINT ITEM 525.34 BRIDGE RAILING, GALVANIZED 4 RAIL BOX BEAM .
o - SEE SHEET 2 FOR ADDITIONAL SPLICE DETAILS ITEM 621.75 GUARDRALL APPROACH SECTION, CALVANIZED 4 RAIL BOX BEAK jZCERTlFlED
)\ 4. PAYMENT FOR GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX BEAM TH1 EAST RIVER ROAD BRIDGE #19 < FABRICATOR] |
" SHALL INCLUDE THE TERMINAL CONNECTOR, THE CONNECTION PLATE, RAIL,
37 CHAMFER o © Uy woes X NOTE: POSTS, BLOCKS AND ATTACHMENT HARDWARE. TOWN OF LINCOLN, VT /(xg)olsON county |
T P
LOCATIONS (typ) ~ (2) LOCATIONS ONLY TOP SPLICE | SECOND SPLICE |  THIRD SPLICE TO BE EROVIDED 5. ALL APPROACH SPLICES SHALL BE LAPPED IN THE DIRECTION OF TRAFFIC SENERAT CORTRIGTOR 2041
.687" 375" tryt? |sweer No. |
CONNECTION PLATE SHALOW X" DIMENSION. 6. SEE SHEET 3 FOR ADDITIONAL MODIFIED APPROACH DETAILS AT WINGWALL 4 B CFATETTE 4 of 4
3/8" x 1'-8" x 2'-3" Ao AR CHECKED [mrz 03-27-15 SSALE\ONE sz




